Shawl Vulcain

Material :

One Zauberball Lace Burnt Alpronds Schoppel Wolle(100g/800m), one
skein of wool Scrumptious Laceg, ,color cherry (100g/1000m).Needles 5mm

2 markers. A meter ofyrow,if'you need it.
Abbreviations:

K: knit

P: Purl

Yo: Yarp over

K2tag: knit 2 together.

BO:"bind off (purl in the row n®°6)

X: Quantity not specified by stitches (that depends on the advance of your
work)

M: Marker
Inc: increasing

Dec: decreasing



Work:

Knit vhe two threads together

Cast on 19 stitches.
Do 4 rows of garter stitch and place the markers like this:

4 stitches, Marker, 3 stitches, Marker, 12 stitches.

Increasing :

Row 1(right side) : K4, M, xk linc k1, M, (K2tog Yo)x3, K3, Yo, K3
Row 2(wrong side): XP, M, xP, M, K4

Row 3: K4, M, xk linc k1, M, (K2tog Yo)x3, K3, Yo, K1)Yo, K3,
Row 4: XP, M, xP, M, K4

Row 5 : K4, M, xk linc k1, M, (K2tog Yo)x38 K3, Yo, K3, Yo, K3
Row 6: BO 5P, P11, M, xP, M, K4

Do 23 times theses 6 rows.

Straight :

Row 1(right side) : K4)M; xk, M, (K2tog Yo)x3, K3, Yo, K3
Row 2(wrong side) :“XP, M, xP, M, K4

Row 3: K4,.M,xk,«M, (K2tog Yo)x3, K3, Yo, K1, Yo, K3,
Row 4:(XP, M, xP, M, K4

Rew'b #'K4, M, xk, M, (K2tog Yo)x3, K3, Yo, K3, Yo, K3
Row 6: BO 5P, P11, M, xP, M, K4

Do 13 times theses 6 rows.



Decreasing :

Row 1(right side): K4, M, xk 1Dec k1, M, (K2tog Yo)x3, K3, Yo, K3
Row 2(wrong side): XP, M, xP, M, K4

Row 3: K4, M, xk 1Dec k1, M, (K2tog Yo)x3, K3, Yo, K1, Yo, K3,
Row 4: XP, M, xP, M, K4

Row 5: K4, M, xk 1Dec k1, M, (K2tog Yo)x3, K3, Yo, K3, Yo, K3
Row 6: BO 5P, P11, M, xP, M, K4

Do 23 times theses 6 rows.

Do 4 rows of garter stitch and bind off. Fasten off; block the shawl, cut the
threads and wear !!



